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Performance improvement of heuristic algorithm to assign job

in parallel line inspection process

Seung—Hun Park® - Seog-Hwan Lee”
*Inha University Industrial Engineering

Abstract

In this paper, we raised the performance of heuristic algorithm to assign job to workers in parallel line
inspection process without sequence. In previous research, we developed the heuristic algorithm. But the
heuristic algorithm can’t find optimal solution perfectly. In order to solve this problem, we proposed new
method to make initial solution called FN(First Next) method and combined the new FN method and old FE
method using previous heuristic algorithm. Experiments of assigning job are performed to evaluate performance
of this FE+FN heuristic algorithm. The result shows that the FE+FN heuristic algorithm can find the optimal
solution to assign job to workers evenly in many type of cases. Especially, in case there are optimal solutions,
this heuristic algorithm can find the optimal solution perfectly.

Keyword : Inspection process, Assign job, Heuristic algorithm
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